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A is the sister of B, B is the brother of C, C i3 the son'of D. How D is related

to A7 .
(a) Brother {b) Sister ]
{c) Father (d) Mother

2. Arun is the father of Karan, Karan is the brother of Mala, Mala is the wife of
Rajesh, How is Rajesh related to Karan ? |
(a) Son
(b) Brother-in-law
(c) Father-in-law
(d) Uncle

3, A person is going towards South, then he tumns led, then left again, then he twme
right and then right again. In which direction is he now ? .
(% South : : :
(b) North :

. (c) West

" {d) East

‘4. A man drove his car suraight town ds east 5 kms. Thea he umed right and drove
for 3 kms, he then turned west and drove for S kms. How far is he from the
starting point ? .
{a) 5 kms (b} 3 ks
(c) 7kms {d) Bkms

5. Arun and Ali start from their office and v/alk in opposite directions, each
travelling 10 kms. Arun then tums left and walks 10 kms while Ali tums right
and also walks 10 kms. How far are they from each other ?
() §kms (b) Wkms
(c) 20 kms {d) 40 ims
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6. If yesterday was Saturday’s torormmow w_nn_ tomoiTow  was W osday’s
yesterday, what day would it be today ? . : iy
(8) Sunday ; {b) Monday . . ;
() Tuesday (d) Suturday

7. Indian Nutionai Congress began to work as political pany since : .
{») 188S (b) 1920
(c) 1906 (dy 1927

&  How can the number of Judges in the Supreme Court in India be increased 7
(¢} by Presidential notification
(b) by Pailiamentary Act
{c) by Amendmeut of the Constitution
(d} by representation from the Supreme Court

3. © Which onc of the following is a Union Termitory 7
‘a) Mizoram (b) Tripura
6\ Pondicherry i {d) Nagaland

10. This recipe calls for two ......... of sugar :
{(a) cupshul {b) cupluls
(c) cupsfull (d) cups filled

L. Inthe following list of animals and their young, one is incorrect. Which one ?
{a) Horse : foal {b) Goose : gosling
(¢} Pig:cub {d) Goat: kid

12. Sarah gavs :Enw._ thought to it before she accepted the job. I ......... & very
difficult decision for her : iy
(a) musi have been {b) would have been
(c) could have been (d) should have been
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13. M. Shaw w-eeeen OF his scheduled lecture 1 the conference: at the very last.
S50 moment : &
(a) backed up (b) backed out :
- (c) backed down (d) backed over i
2 “ 14. No sooner had he struck a match éwnn he entered the rvom, .......... the room

went up in flames :
(a) when (b) then
(c) 5.2._ (d) as

15, Through several years of honest ...:a hard work in the court, the man
rose to the bench, which means that :
(2) he became a lawyer
(b} he became a judge
(¢) he became a state prosecutor
(d) he becamea petitioner

16. One of the nu:cs._:m proverbs means almost the sume as ‘A stitch in time saves
nine.'
(a) Something is better than nothing :
(b) Prevention is better than cure _ _
(c) Spare will and have to spend
(d) Penny wise and poutd foolish

1 “Beware of that wolf in sheep’s clothing.” This idiom talks of a man who is _.
(2) ahypocrite (b) dangerous
{c) intelligent (d) clever

18, An E.::ro_oman is one who is ms..mwnmﬂnn_ in the study of ;
(a) fossils (b) plants
(¢) Rora (d) birds
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" (b) wait

(d) Media

*As white as snow” is an example of :
(a) ‘Metaphnr

(b) Simile

(c) Fun

(d) Allusion

‘V/hich is the correct 51 o:.nm

(2} Bizzare
(b) Bazaire
(c) Bizare
(d) Bizarre

The doctor gave him some medicines cevvens. his appetite :
(a) wei :

{c) what
(d} weight

What is the plura! forin oa..:.nn_ca.. /
(a) Medivms

(b) Median

(c) Medai

We saw a ,
(a) gang
(b) horde
(c) herd
(d) gagg'e

v Of workmen
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The jury comprises .......... six persons
(a) of

{b) none

(c) with

(d) from

What is the adjective form of “quarrel” ?
(a) Qauarrelitic

(b} Quarreling

(¢) Quarrelish

(d) Quarrelsome

Last evening the police nabbed a .. ... criminal :
(a) famous ) .

(0) legendary

(c) notorious

(d) mythical

In rainy seasen there is ........ growth of plant life :
(a) luxurious

(b) luxuriant
(c) luxury

(d) luxurial

Fast food is ............ in nntrition *
(a) Defective .

(b) wetecit

{c) Deficient

(d) Deficent

I have stopped .......... :

(2) tosmoke nmmmaza
(c) to smoking cigarcttes

(b) smoking nmwm.ﬂ..:om
(d) smoke cigarettes

i

30. Each ooy and gifl ............. in lue classroom :
(a) were busy
(b) was busy
(c} are busy
(d) have been busy

31. *Wrath® mreans :
. (a) Jealousy
(b) Hatred
(c) Anger
(d) Violence

32. ‘Connoisseur’ means ;
3 lgnorant
(b) Interpreter
(c) Delinquent
(d) Loverof an
33. Tick the zomect spelling :
{a) asault
(b) assalt
(c) assault
(d) assult

- 34. Being a ‘chicken-hearted fellow’ means :

(a) weak . : :
) (b). coward

(c) bold

{d) kind
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'35, Sarkaria Commission Report, 1987 made recommendations for -
(a) Centre-State relations ; ]

(b) Economic reforms .

{c) Administraive reforms

(d) Industria) reforms

- 36.  Which one of the following stetes of In
1a) Arunachal _#mnqmr
(b) Bihar
(¢) Tripura
(d) Nagaland

&n 18 claimed by China ?

'37. Harare is the capital of :
(a) Zimbabwe
(b) Gtana
(c) Angola
fd) South Africa

38 Which one of tite following s the national animal of our country ?
(8) Juckal
(5) Elephant
() Horse
(d) Tiger

39. The firs:
(a) 1947
(b) 1950
(c) 195]
(d) 1952

election to Parliament was held in :

DEGIK/B

43. Which one of the following states in _:a_m néowm special constitutional position
in accordance with Article 370 7 .
(a) Himachal Pradesh :
(b) Assam
(c) Jamemu and Kashmir - . |
(d) Kerala : e :

-

41, Union Teritories are administered by .. reen. through an administrator wha
may be a Lt, Governor or a Chief noBB_mm_onnn : |
j (a) President of India .
AS Prime Minister of India
(c) Governcrofa State
(d) Speaker of Parfiament

42. Palestinians’ 8.161& are occupied by .................. since 1948
(a) UK
(b) USA
(c) France !
(d) lsrael

43. The no_ﬁ:-::c: has provided woq 33% reservation of seats for women in :
(2) Parliament
() State Legislatures ]
(c) Local Self Govermnents
(d) None of these

44, _nn_:.. is not associated with ;
{a) SAARC

" (b) NAM .
{c) mo:&.moirnosﬁa:o:
{d) NATO

_omo__cw“ _ -9 [P.T.O.
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- 45, Cultural and rducational rights of minorities .mS nmﬂ.
. (a) Article 17 of the Constitution

(b) Article 19 of the Constitution

(c) Article 25 of the Constitntion

(d) Articles 29-30 of the Constitu‘ion

egorically mentioned in :

2

46.  Which Gujarat Minister was recent
encounter ?-
(a) Hiren Pandya
(b) Amit Shah
(c) Arun Shah
{(d} Hicu Shai

ly arrested in connection with a case of fuke

47.  The founder of Wikileaks is
(a) umnﬁﬁ Badding
(b} Paul Kremar
(c) Julan Assange
(d) John Barring

48.  Which of the follow
(a) Canada
(b) France
{c) Holland
(d) Germany

ing countries is not a member of *Group of Eigh:' (G-8) 7

49. The Constitution of India is silent in the Directive Principles about :
(a) Living wages for workers :
(b) Legal aid 10 poor
(¢) Compulsory primary educatior,
{d) Adult education

DEGIK/B

50. d.s first Law Officer of the Government of India is the o ,
(a) Chief Justice of .m:.?dﬂo Court ! . ; y
(b) Law Minister . :
(c) Attorney-General of India. : el
(d) None of the above :

51. Which of the following is not an immediate neighbour of India ?
{(a) Pakistan
(b) Afghanistan
(c) China
{d) S:i Lanka

52, 'Karghamal’, whete organised violence against Christians look place, is located
in :
(a) Orissa
(b) Assam
(¢} West Bengal
(d) Maharashira . .

53, ‘'Shahnama' was written by :
{a) Humayun
(b) Abul Fazal
{¢) Firdausi
(d) ‘Babar

54, . The cultivation of which of the following crops requires water logging ?
(a) Cotton :
(b) Rice
{c) Tea
(d) Oil-sceds

¥ ik
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58, The institution of Ombudsman was first introduced in

: . ; 60. Which one of the following is a Human Rights Organisation ?
{(2) China . : Lo (a) Red Cross
(b) Denmark . : : . . s (b) COMECOM
(c) Sweden : : (¢} White Men International
(d) Japan ] :

(d) qemﬂnaEu Council

i : g = . : sali ¢ under the
56. The tota! number of articles in the Indian Constitution iy - . = . S1. Before the Independence of India, UH.”_B & Nagar Haveli wer
(a) 430 : i administrative control of - ;
(b) 495 . : o 4 (a) English
(c) 395 o _ o B o _ (b) Frerch
(dy 4z I ) : e (c) Portuguese
& = : 5 ; . e (d) Nawab of Junagarh
57, Zend Anesta _.m.an_,nzmmocm.voo_noﬁ . - e St : et . .
(@) Christians ] : i : ; 62. Which one of the fullowing hazardous chemicals caused the Bhopal Tragedy’ ?
{b) Parsis : . . (2) Methyl Isocyarate. :
(c) Jains _ ! : _ {b) Methyl Benzene
(d) Buddhists s G _ : [(c) Thiocyanate : ;
| : | : i (d) HNydrogen Cyanide .
58. The Millennium Developmant Goals are eight goals that a| UN member siates : : : . St S
Have agreed 1o Iry to achieve by the year : . _ e 63. Aman started walking from North—South. He turncd right at :m? angle and
(2) 2012 . i | i | again right at right angle. In which divection was he ultimately moving ?
() 2015 ; 1 . (a) North _
(©) 2017 3 " Egutit (b) East
(¢) 2020 : s . (c) West
(d) South
59, ‘Panther Party’ is 5 political party of which of the following state : _ i ._ ; : i
®) Jammu & Kashmir . : : "~ 64. Cloose the word which is opposite in gender to ‘“WIZARD 7 4
(b) Punjab ; : : o (2) Wizardess .
{¢) Haryana ; | il . \ (b} Wizardregs
(d) Uttar Pradesp, = : . ~ {c) Wizardee
_ m (d) Witch
 DEGIKB T | DEGIK/B - . 13

[P.T.0.




¢

65. Find the add one out - | 7 .

posntli g 70. ,.S_._.”: one of the following pairs of state share a stretch of their ga& et
(2) Othello _ | | Nepal and Bhutan? il
(b} Julius Caeser . : (a) Sikkim and Assam
(c) Hamlet : (b). Sikkira and West Bengal
(d) Christmas Carols e (c) Arunachal Pradesh and Assam
_ ~ (d) Bihar and West Bengal
66. Tle father of the Indian cinema was “. ; . . : : : _
(a) V. Shantaram . : 7i. National Program of Nutritional Support.to Primary Education is also known
(b) Dada Saheb Phalke HEe . j R
(c) Master Vinayak (a) Swasth Vidyarthi Scheme
(d) Sohrab Modi ok GAE . : (b} Bal Annapurna Scheme
: ) : = (c) Midday meal scheme
67. The brightest planet in the solar system is : ; (d) None of these
(a) Mercury : : :
(b} Venus _ : 72. The deepest port in India is :
(c) Satum o _ | {a) Cochin
(d) Earth : (b) Vishakhapatiam
| . . ; {c) Mumbai .
68. Primarily which one of the following .,.ua_.a.:v. of the body is attacked by the (d) Chennai )
HIV ? : . :
”q.m. {a) Cardiovascular . , . 73. Find the odd one out ; ;
_.A {b) Immune : _  {4) Delhi (b) London
g (c) Respiratory = : ; : ; (¢) Faris . (d) Jeddah
ReE s 74. Choosc the correct letter to complete the series : TZB TZF TZK TZQ TZ reveaen
69. Which among the following religious comraunitics are declared as Minority - "{a) W : (o)
Community in India ? (IS s e @ X
(a) Muslims, Christians, Sikhs, Buddhists and Zoroastrians (Parsis)
(b) Muslims, Christians, Dalits, Jains and Zoroastrians (Parsis) 75. Find the odd one out :
(¢) Jaius, Sikhs, Buddhists, Muslims and Christians (a) NQR (b) TWX
(d) Muslims, Christians, Adivasis, Sikhs and Buddhists

(c) SUV (d) BEF
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Part-B ;

INSTRUCTION : The following qcﬂam:a should be answered 11 English in 50 words each in
the space _u_.oinon. ;

m ! 76. Privatization of education has helped canly the rich in our country, Argue for or
againstit, ;

o e St

KE._S Secured

Signature of the mn.m.am:n_. :

. 71. The Naxalite problem should be resolved through dialogue. Discuss,
Date ._ .

e e
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78. “Right to EducationBill" is a major achievement nf UPA governmenl, Comment.

79. “Khap Panchayats” have no place ina democracy. Elaborate.

BU, LADIC | V PUSES 8 SUIIUUD UL LAL W Wb wratvmm v o cmv o

81. Grading system in examinations will reduce students’ stress. Discuss.
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